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Chaos Optimization Algorithm and Its Application on
Combinational Problem

WANG Li-xia
(Xingzhi College, Zhejiang Normal University, Jihua 321004)

Abstract Chaos optimization algorithm(COA) is put forward to solve value optimization problems, which can find the best solution efficiently.
However, it is difficult for COA to solve combinational optimization problems. To solve the problem, this paper presents a method to solve
combinational optimization problem based on COA. An initial solution is produced, and a new solution is produced by chaos variables or by
disturbing initial solution based on chaos variables. Based on the method, the paper solves two typical combinational optimization problems(0/1
knapsack problem and TSP problem). And the result of simulation shows the validity of the algorithm.
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